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Uphi (phi-avrg)

January 7, 2015

a.e03p1t10r-10m1n2N3z098e7.5
snapshots at time 3.360336

up at 7 = 0.8 U, & merid circulation (mer)
88000
86000
84000
82000 |-
80000 1
78000
76000
74000
72000
70000 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
32 322 324 326 328 33 332 334 336 3.38
time
800 ; ; ; ; ; ; 10000 ; ; ; : T
0 —— [d(S+Sbar)/dr],=Om=0 E—
700 ég I 5000 - S/drig
600 | 45 it of
60 o
500 - = -5000
@
400 - ‘s -10000 -
B
300 + S -15000 -
2
200 - & -20000 -
=
£ 25000 -
2
S -30000 |

-35000

-40000

. . . . . .
0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
rlro riro



